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g 3 3 + 7 3 =13
q 5 2 5 3 = 18
5 7 - 7 |+ 2 = 6
g 8 9 + 5 — 4 = 9
3 - 2 + 3 8 = I5
5 8 3 - 4 - = |
5 4 — 7 6 = 17
8 6 I + 6 9 = 38
5 2 | 7 + 6 = 17
4 + 5 g | 6 = 25
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5 2 + 2 2 + 8 = 1|
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2 8 2 | + 7 = 20
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6 4 + | — = 1|
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5 + 8 5 2 5 = 25
7 5 8 — 2 — 3 =15
3 + 3 |+ 4 - 7 = 2
g g 6 + 4 + 9 = 19
6 — 6 g 4 7 = 6
3 - 2 g 6 + 9 = 13
6 + | 2 3 + 9 = ||
8 + 2 4 | = 14
g 6 6 + 3 = I
6 + 8 3 + 3 4 = 16
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3 2 4 4 + 6 = 7
g8 + 9 7 2 - 3 =g
2 7 2 — 6 5 =0
|+ 7 8 + | q9 = 26
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q 8 + 8 = 25
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g + | - 6 3 + 3 = 4
8 — 8 7T + 6 q9 = 22
3 5 9 + 9 - 5 = 2|
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6 5 + 7 — 8 — 5 = 5
4 6 + 4 + 4 5 = 13
8 |+ 6 5 9 = 29
4 - g | - 5 = 8
8 + 6 8 + | = 6
g g 2 6 + 7 = 17
7 - 2 q 5 = 22
4 — 2 6 — 2 + 4 = 10
3 - 5 5 6 = 6
| 2 + 9 2 — 6 = 8

ZOTI> NE. DA EBY A [https://printchan.com] KDERITHY D> O— RTEEY
0020-0112-0005



BROALEEPA

[t &S AN] # A 8
50 (I1#1) =LE - - VEHEDHA 2 Hl
No.006

FuwsA =225

*EtHET (+. —) AN TAEXKILIETIL £9

®@ @& ©®© o & e O O

Q

©

L= pcA el

g + 3 g 4 6 = 3
9 - 6 7 + | 3 = 8
5 — 5 g 3 + 6 = 12
6 — 6 3 8 4 = 15
4 + 7 —- 6 4 = 2
5 + 3 7 |+ 2 = 2
3 7 — | + 6 2 = 13
3 4+ 4 + | g 7 = 10
3 + 2 5 + 6 3 = 3
6 — 2 4 5 7 = 6
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o+ 2 5 — 7 = 0
4 6 — 7 + 9 9 = 3
6 4 5 7 — 5 =g
8 2 + 3 6 5 = 24
7 - 3 2 - 3 4+ 3 = 6
7 2 + 2 4+ 7 + 4 = 18
5 5 9 + 2 - 2 = 19
6 8 — 6 — 2 8 = |4
3 + 2 - 3 2 + 2 = 2
7 5 + g 5 + | = 17
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4 — 4 3 5 8 = 0
3 4 2 3 + 5 = 7
5 — 4 + 3 + | 4 = q
8 g 5 + 7 — 6 = 13
|+ 8 g 6 8 = 32
3 2 g - 3 4 = 11|
5 g + 8 3 5 = 14
3 + 5 8 2 5 = |3
9 — 7 + 3 | 4+ 3 = 7
4 3 - 5 — 2 + 9 =g
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7 6 + 2 9 — 7 = 5
5 — 4 4+ 2 + 2 4 = q
5 5 + 9 — 6 2 = ||
7 2 - 7 = 0
4 4 — 4 - 3 + 7 = 8
|+ 3 7 7 5 = 23
3 8 4 + 7 - 7 =15
3 2 + 3 6 = ¢
6 — 2 4 + 9 3 = 20
2 4+ 2 3 + 2 - 8 =
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